3UNFd 92T 97 ofter & 3rgeis Toham SR |
3ra: gt PRaR radeT FQ W |
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ED-2001

B.Com. (Part-I)

EXAMINATION, 2021
FUNCTIONAL COURSE
Paper First

(HINDI LANGUAGE)
Time : Three hours Maximum Marks : 75

dre— g goT sifvard &1 99T # o7F I9% @ra fod
gl
1. (37) Yocia T & ? ST 9T U fageams fafaw ) 8
Jrerdr
R fafau— (FE )
TET 9T, H 9T, SAAE |
(3T1) TR STl ahl TRYTST UF 9w [ofidy | 7
Jrerdr
e’ e B HATER fafay |
Unit-2
2. (37) Srenfriad wenifeRT Gerari & 7 fo@et arr arEu—
(1) I AT A 37T BT 1S | 5x3=15

100 [P.T.O.]

ED-2001 [2]

(2) B P I RET T ?

(3) eI TR BaAhd o |

(4) drEl SHIferar o 5 & |

(5) 3G &I T

(6) SART FAT BT |

(7) ST H AT BT |

(8) 1T UBAT B T, 99 fafzar I T od |
‘MR a=gAT iadT T Wrare fafau |

(3) fopeel ufer et T g i —

(1) ez 9fy == e Tnfew
(2) =t gamdy &t sy 2 |
(3) 3T AR Te feam g2 |
(4) ¥ =rd & B4 g

(5) & YT W YHI B |
(6) U3 ¥ Bl B @ 2 |

(7) ST g &% bl FoTl foredl |

3.(31) TEEmrd iy @ fagoaret ) 9T S |

34T

FAUT 7 & 7 FEAUT h fagioand fafaw )

(31) ‘AT 9 H SAaT Rt waE arT fafad = wr

STy fofam |



[3] ED-2001

4. (%) ‘B ¥ Bl & FIIANT foug W U ey fog | 7

Jrerdr
FFYI W UF IS feoqoft fafg |
(3m) ‘feert & @ [qaeHe & 9 e @ qa e
ferfaT | 8
5.(31) W & foh e € 7 " S @t fagioant fafad |
8
Jrerdr
TR TR FHINT |
Jrerdr

(3m) ‘@I fiaar MET & STYR W OHedId @
U BT | 7
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ED-2002

B. Com. (Part I) EXAMINATION, 2021
(Foundation Course)
Paper Second
ENGLISH LANGUAGE
Time : Three Hours
Maximum Marks : 75
Minimum Pass Marks : 26
Note : Attempt all questions.
Unit—I
1. Answer any five of the following questions : 15

(@ To whom is the poem ‘where the mind is without
fear’ addressed and what does the poet ask for ?

(b) Which Gods make the Hindu Trinity ?

(c) Where was the battle of Mahabharat fought ?
(d) What is the significance of fundamental duties ?
(e) What was considered Child’s play by Gandhi ?
(f) Explain the meaning of the term ‘Upnishad’.

(g) What will happen it trees are not taken care of ?

(h)  Where will Ghalib go and live if the conditions of
his life did not improve and why ?

P.T.O.



[2] ED-2002
(i) What was the influence of the accursed diamond on
the prince ?

(i) What are the two most important aspects of Indian
constitution ?

Unit—I1
Read the following passage and answer the given
questions : 5
Machines were made to be man’s servants, yet he has
grown so dependent on them that they are in a fair way
becoming his masters. Already most of the men spend
most of their lives looking after and waiting upon
machines. Machines are very stern masters. They must be
fed with coals, given petrol to drink and oil to wash with.
They must always to kept at the right temperature. If they
do not get their meals when they expect they grow sulky
and refuse to work spreading run and destruction all
around them as such we have to wait upon them in a good
temper. We already find it difficult to work or play
without machines and a time may come when they will
rule us altogether just as we rule animals.
Questions :
(i)  Why did we make machines ?

(i) Who are becoming the masters gradually man or
machines ?

(iii) How can be keep machines in a good temper ?
(iv) When do machines spread run ?
(v) What kind of time man may have to see in future ?



[3] ED-2002

Unit—III

3. Write a paragraph of about 150 words on any one of the

following : 10
(a) Saving our environment
(b) Gandhi Salt March
(¢) Quit India Movement
(d) Vedic literature of India
Unit—IV
4. (i) Write an application to your principal requesting her
to issue your transfer certificate. 5
Or
Write a letter to the Post Master complaining about
the irregulanty of the postman deputed for your
locality.
(ii) Write a letter to your father informing him about

your welfare in the hostel which you have joined

recently and requesting him to send you some

money for the books you need. 5
Or

Write a letter to your friend requesting him to attend
your birthday party.

Unit—V
Match the words with their meanings : 5
(A) (B)
(@) Compassion (i) feel surprised
(b) Crumb (i)  tired

P.T.O.
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[4] ED-2002

(¢) Marvel (iii) a lot of confused or
excited noise

(d) Fatigued (iv) pity for suffering

(e) Tumult (v) averysmall place

Give the synonyms of : 5

(i) Rescue

(ii) Chaotic

(iii) Rapid

(iv) Strewed
(v) Festooned
Give antonyms of : 5
(i) Poverty
(i) Rapid
(iii) Sincerity
(iv) Vanish
(v) Ancient
Do as directed (any twenty) : 20
0] He stopped. He used to smoke.
(Combine using a gerund)
(i) Do you mind if I close the window.

(Replace the underlined portion with a
gerund construction)

(iii) The Hindu Trinity includes Brahma.
It includes Vishnu
It includes Mahesh
(Combine the sentences into one)



(iv)

(V)

(vi)

(vii)

(viii)

(ix)

()

(xi)

(xii)

(xiii)

(xiv)

(xv)

[5] ED-2002

Have we to do it all by ........
(Use the correct self form)

Buying presents .......... children is very
difficult. (Use the correct preposition)

They invited Tanuja to deliver her speech.
(Change the voice)
People blamed the government for
everything.
(Change the voice)
Itis..coovvnenns hot to work today.
(Use too or very)

The girl said, “I (be) a model when I grown

up.77
(Use the going to form of verb given
in brackets.)
Put ........ butter on the bread. I don’t like it
plain. (Use some or any)
The children were frightened because it
(get) dark.  (Put the verb in bracket in the)

Itis......... hot to work today.

(Use too or very)
I wishyou ......... (submit) your thesis by the
due date.

(Use the past indefinite or Past perfect
form of the verb in brackets.

There is no other offer, I ......... accept this
job.  (Use a modal exprening compulsion)

How long you (wait) for me ?

P.T.O.
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(Use the word in brackets in the present-perfect
continuous tense form)

(xvi)

(xvii)

(xviii))

(Xix)

(xx)

(xxi)

(xxii)

(xxiii)

(xxiv)

(xxv)

ED-2002

Rani to Reetika, “Please lend me your
dictionary.” (Rewrite in Indirect speech)

“Did you lock the house or not ?”” He asked
his son. (Rewrite in Indirect speech)

Sitting ..o the floor is not very
comfortable.  (Use the correct preposition)

We ......... aim at noble goals.
(Use the correct modal)

There was ........... accident near ...........
post-office yesterday.

(Use the correct article)

............ you don’t like samosas try one of
these. (Using if or even if)

It is very cold, we cannot go out.
(Rewrite using too or very.)
Honesty is the ............ of all virtues.
(Use the suitable degree of the verb good)
lcut....... with a razor.
(Use the suitable self form)

One day Alberts cousin Elsa came to see
him. (Punctuate the sentence)
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ED-2004

B. Com. (Part 1) EXAMINATION, 2021

(Group—1I : Compulsory)
Paper Second
BUSINESS COMMUNICATION
Time : Three Hours
Maximum Marks : 75

e ;. W Ofg T & SR QY | UG 3dls W TS U

1.

AT Afard g | ) g b 3 T |

Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.

SHE—1
(UNIT—1)

AT AR G197 § 7 RN df Tl R JeR 9T
ST AT § ?
What is Effective Communication ? How communication
can be made effective ?

AT

(Or)
a1 fagemor fod ded & ? 39b S Td BRI Bl
qui HIFY |

P.T.O.
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What is Audience Analysis ? Explain its objectives and
types.
ShI3—2
(UNIT—2)

GO H PIF-DIH-AT I 3T 8 ? 39 Jensl o e
TSR R fbar I wehar g ?
What are the barriers to communication ? How do you
overcome these barriers ?

34T

(Or)
SO | MY FAT GASK & 7 SAUT & Seed d Al Bl
9ATSY | ARG TR0 § 3] AALAHAT ISy |
What do you mean by Listening ? Explain the objectives

and advantages of listening. Explain its need to business
Communication.

TPHIE—3

(UNIT—3)

Udh &IHICJ?IIC'I(\I CdICN-IIIr?\JCb LRl EF} STdRYdh CICfH Eﬁ i?muvn
PITT | THh ATIARIS 5 B IR THSSU |

Discuss the essentials of an effective business letter.
Explain the structure of a business letter.

AT

(Or)
forRaq @maeiye FaR & 31, U-]Y U9 7Ed @l quid
PIFTY |

Describe the meaning, advantage, disadvantages and
importance of written business communication.



[3] ED-2004

FPTE—4
(UNIT—4)
4. URATBRUT Bl @RV AT 8 P GRIBROT DI YHTfAd
IR ATl BRI DI AHSY |

What is the concept of Presentation ? Describe the factors
affecting the presentation.

AT

(Or)
RUE oEs | &7 amerg § ? Rud QR &_9 & 1
g ? 9wssy |
What do you mean by Report Writing ? What is the
process of writing a report ? Describe.

$hIs—5
(UNIT—S5)
5. UTId 99T fhd Bed & ? UTed 99T & Hecd Ud IRl Bl
qdrgU |

What is Paralanguage ? Discuss the importance and
limitations of paralanguage.

SR

(Or)
frferRed TR wfera fewforl forkay -
(i) o
(i) $-Hel
(iii) dfSAr BRI
Write short notes on the following :
(i) Fax
(i) e-mail
(iti) Video Conferencing

ED-2004

P.T.O.
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ED-2005

B. Com. (Part I) EXAMINATION, 2021

(Group—1I1 : Compulsory)
Paper First
BUSINESS MATHEMATICS
Time : Three Hours
Maximum Marks : 75

e ;. W Ofg T & SR QY | UG 3dhls | TS g
T A g | 9 geHl & i 9 2 |

Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.

ShIe—1
(UNIT—1)
1. (@) vftremus fafr & g @RI ¢ 5
X+y=7
2x—3y =11
Solve the method of substitution :
X+y=7
2x—3y =11
@ T @ oy TN I @ Y B A T 2| 15 ¥
Ugel fO 1 oMy gF @ MY d A A & | D
A Y AT DITY | 10

P.T.O.
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A father ages three time that his son 15 year ago,
fathers, age was nine times that of the son, find the
present ages.

aFerar

(Or)
UH HHAT QT aEGRl X T Y B A6 Bl 8|
el & fofg srfaferT o fihferT @1 smawgear g |
SR AT @1 SAfeHad ear 50 HUC Ui HWE 3R
R favmT @ afdreaw emar 40 av¢ Ui wwE 2 |
g X & o e gus H siffafolT &1 wHy 4 "o
aT fHRAT &1 T9g 3 9v¢ &, T 9% Y & U pae:
39U AT 5 HUC 2| 9% X W T 16 A 9% Y W
3 14 @M BT | ASdHTH oM UK dR b g aEi
Al & (69 Fad BT Ieured fbar oy | 15

AT BT N YA FART & Wy H faIlgu |

A company produces two articles X and Y. There are two
different departments assembly and finishing through
which the articles are processed. The potential capacity of
the assembly department is 50 hours a week and that of
the finishing department 40 hours. A week production of
one unit of X requires 4 hours in assembly and 3 hours in
finishing and each unit of Y requires 3 hours in assembly
and 5 hours in finishing. The profit is ¥ 16 for each unit of
X and ¥ 14 for each unit of Y.

Formulate a L. P. P. to this problem to determine the
number of unit of X and Y to be produced each week to
get maximum profit.



[3]
THE—2

(UNIT—2)

I
]

AB TAT BA STd IS | FT AB = BA ?

RNY
]

Find AB and BA. IsAB =BA?
ARITH A DT A ST DI -
4 8 2

A=|0 3 5
2 31

A

B

A

B

Solve the determinant A :
4 8 2
A=/0 3 5
2 31

3rrdT
(Or)

ED-2005

10

< log 4 = 0.6021 B I log 16 T log 256 &

LIGECRIERNS
If log 4 = 0.6021, find log 16 and log 256.

5

P.T.O.
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STEIOIE AR B HERIT ¥ A 91 BT : 10

2.38x 3.901
4.83

Find the value with the help of logarithm tables :

2.38x 3.901
4.83

$HIT—3
(UNIT—3)
¥ 6,000 Ufd 9§ HHE b fow §6 § fhaar vuam
ST HRAT A1RT Wafh T B g¥ 12% d1fid & ?
5

What amount should be deposited in a bank to earn
¥ 6,000 per annum when the rate of interest is 12%
per annum ?

fe FuiRa R 4% 9fd v & iR = AR SireT
ol [l gsf?ﬁ@dlxﬂ a%’fqmﬂfacba‘\’qmsql 10

If nominal rate of interest is 4% per annum and
interest is compounded quarterly, then find the
effective rate of interest.

rerdT
(Or)

Th b - 10% e 16l W 68 g9 SuR foran, o
ol JAd 99 b 3w H Sirel ofdl 2| 99T SS9 10%
e &9 & R W ,NdT e s 99 R ST S
g, SUR fauT| 39 UHR S o 98 § T 16.80 BT o™
3T SR forar a1 g =i1d I | 15
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A banker borrows money at 10% per annum, adding
interest at the end of the year. He lends it at 10% per
annum adding interest half-yearly by this he gain ¥ 16.80
in two year find the sum borrowed.

ShIg—4

(UNIT—4)

(@) ATAT B AR H 9: 4 FIUC 2| A 9 915

IHSG! MY DT AU 5 : 3 BN ad H IFT DI
3y feprfery | 7

The ages of A and B are in the ratio of 9 : 4, seven
years hence, the ratio of their ages will be 5 : 3. Find
their ages.

forefy Ffad w7 # 12 983 18 HRET 1 waa |
I & FHY H 10 F¢3 ol HRIAT a1 Wi | 8
12 carpenters make 18 chairs in a certain time. How

many chairs will be made by 10 carpenters in the
same time ?

3feraT

(Or)
Uh AR A HY Alsibed TRIGl ST 39 4o
i wrgfhel T 190 o 10 Asfhell &1 A qod
T 175 o7 3R Y Asfhal @ folw 98 200 97| 7

A trader purchased some bicycles, The average price
per bicycle was ¥ 190. The average price of 10
bicycle was ¥ 175 and that of remaining bicycles it
was T 200, find the number of bicycles purchased.

P.T.O.
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@) T TH F=I D 80% H 32 Sied W URUH TE
T B A1 98 G S DIt | 8
If 32 is added to 80% of a number the result is the
number itself. Find the number.
IPIs—5

(UNIT—5)

5 (@) U AMUNI 9 UER @ W B 20% A 25% X
fear| fasa qeg # fobaw ufoer uRad= fear o
Ty fop IR &1 U geRIfT 98 @ ? 7

A trader altered this trade discount from 20% to
25%. By what percentage should the selling price be
altered so that the amount available to the trader
remain unaltered ?

@ fEEy % $HI A AFE Hed W 25% o™ Bl 31l
fasha oo W 20% o BT 2 | 8
Show that the profit of 25% on purchase price or
cost price means 20% profit on selling price.

3T
(Or)

U MEH! B T gHM 2 6,000 § 997 R B T T3 |

If 98 I9 A B T 7,550 § 99T A1 S Ugel B

d D RER AN BT & ° HI oI F1d DY 15

A man sold shop for ¥ 6,000 and lost something. Had he

sold it for ¥ 7,550 his gain would have been double the
former loss. Find the cost price.

ED-2005
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ED-2006

B. Com. (Part 1) EXAMINATION, 2021
(Group—I1 : Compulsory)
Paper Second
BUSINESS REGULATORY FRAMEWORK
Time : Three Hours

Maximum Marks : 75

A ) U geel b SR SINY | IAd shls 9 Ud U9
BT A 2 | 9 gt & 3f FE B |

Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.

THE—1
(UNIT—1)
1. “Tdl 39y 3w B © ? fbeg W 3EvIg ey Tl
B 17 39 BAT B (I BT T ST B AaeAD
Tcdl Bl T wY A FHSRY |

“All contract are agreements but all agreement are not
contracts.” Discuss this statement and clearly explain the

essential elements of a contract.

P.T.O.
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3reran

(Or)
WS AT W Y T S § ? EAfd b wadd el
Bl & ? ATEY H 39 Aed B [JdTT I |

What is Meant by Free consent ? When is consent not free
? Discuss its importance in contract.

ShIg—2

(UNIT—2)
FIRET T URMfT ordyr  amg g | € ? foe
Semell § e Ul 30 S1RIE | g 8 Wl § 7
What do you mean by Contract of Guarantee and

Indemnity ? In what circumstances a surety is discharged
from his liability ?

34T

(Or)
ol et @ed 8 7 oM e @ ufa goie @
BRI MR Htedt Bl fAqamT BIRTY |

What is an Agency ? Explain the rights and duties of an
agent towards his principal.

SHIE—3

(UNIT—3)

TA SR ARG H AR W BT | T 9% AT AT
s orfee H TR el dem SmEEREl @ R
BT |

Differentiate condition and warranty. Explain the implied
conditions and warranties in the sale of goods contract.




[3] ED-2006

3rerar

(Or)
3red fasmhar ®F & ? dal @ ufd Afdard wu 9§ iR A
@ Ufd IS9P T ARPR & ?

Who is Unpaid Seller ? What are the rights of an unpaid
seller on buyer personally and on the goods ?

FHT—4

(UNIT—4)
fafra gy faorg or aRamr T dom s9a denfe
ar=garall o fadedr BT |

Give definition of Negotiable Instrument and discuss its
legal presumptions.

forar
(Or)
qPh b Wb BT AT 3 8 ? IIThT BT B Thdl & ?

$9b UBRI Bl 18U |

What is meant by crossing of a cheque ? Who can cross a
cheque ? State its kinds.

HE—5
(UNIT—5)
SUMIGT ERET AR, 1986 FRMT T ? SHG W
TAET} BT qoi BT |
What is Consumer Protection Act, 1986 ? Describe its

main provision.

P.T.O.
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3rerdm
(Or)

At <RI IR |1 2 ? g R 9’ v
A IR AEeNt @ 72 R BIfoTy |

What is Limited Liability Partnership ? Distinguish
between a limited liability partnership and unlimited
liability partnership or Traditional partnership.

ED-2006
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ED-2007
B.Com. (Part-I)

EXAMINATION, 2021
(Group-III : Compulsory)

BUSINESS ENVIRONMENT (Paper First)
Time : 3 hrs.] [M.M. : 75

G

100

FHT qrer g9l @ TR AT | §AE 378 G U 97 B
AT & 1 @ g9 % A qHT &1
Attempt all the five questions. One question from
each Unit is compulsory. All questions carry equal
marks.

ShIS—1

Unit-1
I el TS AT HH B % HR S5 | TS AT
eI &q AU ATsl H FT HE 3o T &7
Discuss the factors responsible for the low National
Income in India. What steps have been taken to
increase the National Income during five-years

plans?
3141

OR
[P.T.O.]

ED-2007 [2]

IR § YA §qad &1 °rer ROy =i 9¢ @ 87
RN 7 36 LT & GO & {0 S 39 O 8
ThT Jedich hitord |

Why the deficits in Balance of Payment in India is
increasing? Evaluate the measures taken by the

government to solve this problem.

SPIS—2
Unit-2

1T ST T B2 wRd § &5 s i gz
JT I1EY b T8 3k i B AR o T HaH o
B
What are regional imbalances? Discuss the regional
imbalances in India. What measures are adopted by
the government to overcome this problem?

34T

OR
RA ¥ el YER (Hiai J gfs) & THE 7 & 2 38 b
& SUE A |
What are the effects of Inflation (Price Rising) in

India? Suggest measures to control it.



[3] ED-2007

SHIS—3
Unit-3
3Tfefeh TEMRAOT & T A 87 WIRA § SERIehol W
e fEy farau |
What do you mean by economic liberalisation? Write

an essay on liberalisation in India.

3141

OR
IR TR i & T fasant @ Hiftg |
AT I9AT TRATT Y Faer § o 17 qfRkaci &l
ERIE
Explain the main features of Indian fiscal policy.
Discuss main changes which are effected in tax

system in India after independence.
TPIX—4

Unit-4
ST AN (I SR @l faQdrst ud Sl &1
o T |
Explain the characteristics and objectives of
Planning Commission (Niti Ayog).

3141

OR

ED-2007 [4]

IREAT daau ST & T 969 T & 7 AREdl i
T BRI T rIHBATST el TTe=aT i |

What are the main objectives of Twelfth Five Year
Plan? Discuss the strategies and priorities of Twelfth

Five Year Plan.

SPIS—5

Unit-5
“faeprasiia 9 @7 gfte & yr: I8 @er oan @ 6
FHers (UNCTAD) HEadT &l o1 § fathel Aierh T
TV AT ST TH HAT F HEHd &7
“It is often said that from the point of view of
developing countires UNCTAD has been more a
failure than a success”. Do you agree with this
statement?

320dT1

OR
IRA 9 goaeT faesft st 1 sepftia &3 &g 98hR &
! TN 9Bd I T HIT |

Explain the various initiatives taken by the

Government to attract foreign investment in India.
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ED-2008

B. Com. (Part I) EXAMINATION, 2021

(Group—I11 : Compulsory)
Paper Second
BUSINESS ECONOMICS
Time : Three Hours
Maximum Marks : 75

e ;. W Ofg T & SR QY| UG 3@ls W TS U

1.

AT AR & | T gl & 3 9 B |

Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.

ThIE—1

(UNIT—1)
AP THRT R & ? Uh RfdRedl H HiH-1 FHRR
BT gl ?

What is Economic Problem ? What are the main problems
of an economic system ?

3rerar

(Or)
Arid SUARET g a9 @ e e AT BIfY |
efeme ¥ g AW &1 |1 "' © ?

P.T.O.
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Critically examine the law of diminishing marginal utility.
What is the importance of this law of Economics ?

THE—2
(UNIT—2)

AT B g B gRETST SIS 9o |07 & ofi g &7 g9ifad
BT dTol Tchl bl ATy |

Define elasticity of demand and describe the factors
effecting the elasticity of demand.

34T
(Or)
A7 @1 A & IR goTal B wwesy |
Explain the different types of elasticity of demand.
THE—3
(UNIT—3)

Ided Bod B IRYING HINT T sqd IErg
favraaren &l 9arsy |

Define production function and point out its general
characteristics.

3feqar
(Cn)
Sl g fuw &7 quie SHe dErel |ftd I |
Explain law of diminishing returns with their limitations.
SHE—4
(UNIT—4)

IR T B gRATNG DI | 6l a%g & qoiR 4
faedR & folg HIF-@F ¥ I@ Mawd 8 ?



[3]
Define the term ‘market’. What are the essential factors
which extends the market of a commodity ?

SIVEI

(Or)
TGRSR Bl YRATNT DINTY | THIEHR &I [aeryarel v
et @1 forfag |

Define Monopoly. Write down the characteristics and
limitation of monopoly.

gPIE—5
(UNIT—5)
5. faoRor & HAwid ScTedar Riga 9 a1 3™ § 7 s
ARl ) T Py |

What is the meaning of marginal productivity theory of
distribution ? Also point out its limitations.

perar
(Or)
Reret & ATd g @ R & G9em8y |

Explain in detail the Recardian theory of rent.

ED-2008

P.T.O.
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ED-2009

B. Com. (Part I) EXAMINATION, 2021
COMPUTER APPLICATION
Paper First
(Computer Fundamentals)
Time : Three Hours
Maximum Marks : 50

Note : Attempt any two parts from each Unit. All questions
carry equal marks.

Unit—I
1. (a) Explain characteristics and capabilities of a
Computer System.

(b) What is Computer Generation ? Explain different
types of generation.

(c) What is Data Processing ? Explain data processing
system.

Unit—II
2. (a) Explain different types of scanning devices.

(b) What is output device ? Explain any five output
devices with diagram.

(c) Explain different types of printer with diagram.

P.T.O.



3. (@

(b)

(©)

4. (a)

(b)

(©)

5 (@)
(b)
(c)

[2]
Unit—I1I
what is Storage Device ? Explain different types of
storage devices.

Explain mass storage systems and optical disks with
example.

Write short notes on any two of the following :
(i) CD-ROM
(i) EEPROM
(ili) RAM
Unit—IV
What is flowchart and algorithm ? Explain with
example.

What is Computer Language ? Explain different
types of language of computer.

Differentiate between interpreter and compiler.
Unit—V

Explain history and versions of DOS.

What is O. S. ? Explain open source O. S.

Write short notes on any two of the following :

(i) Control Panel

(i) Desktop

(iif) Taskbar

ED-2009
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ED-2010
B Com (Part 1) EXAMINATION, 2021
COMPUTER APPLICATION
Paper second
(PC S/IW & MM)
Time: 3 hours
Maximum Marks: 50
Note : Attempt any Two part from each question . All questions carries equal marks

UNIT 1

Q1 [(a What are the various function of page setup? Explain them with Example
(b) What do you understand by templates and wizard?

C) | What is Mail merge? Explain Process of mail merge using example.

UNIT 2

Q2 |[(a Explain about data validation and filter option in excel with example.

(b) What is cell refrencing? Explain about relative and absolute cell addressing
(c) | Define Any 5 Math functions.

UNIT 3

Q3 |(a) Explain about slide master and it’s utility in PowerPoint software.
(b) Explain different slide Transition effects.

(c) | Explain different type Animation.

UNIT 4

Q4 |(a) What is Ms-Acess?
(b) Explain Defining data and creating table in Ms-Acess.

(c) | Explain different type of query?

UNIT5
Q5 | (a) Explain different type of Animation ?

(b) Explain Any Five Tools of Photoshop.

(c) | What is Multimedia? Explain different graphics package with the feature.
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B. Com. (Part I/11/111) EXAMINATION, 2021

ENVIRONMENTAL STUDIES AND HUMAN RIGHTS
Time : Three Hours
Maximum Marks : 75

A @ yeq fard B U HHie 1 WX 25 3fd g Y
TP W 10 3P 2 |

All questions are compulsory. Question No. 1 carries
25 marks and rest of the questions carry 10 marks
each.

1. fr=faRaa ® @ fol g W dfera fewfrit faRay |
(i) ol yaE
(i) @1

(iii) I-T@e
(iv) wre g

(v) & ogE

(vi) AG STHR AReTUT
(vii) 3ref-aut
(viii)a=g-uro RrerR

P.T.O.
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Write short note on any five of the following :
(i) Energy flow

(ii) Floods

(iii) Land-slides

(iv) Food chain

(v) Noise pollution

(vi) Protection of Human Rights

(vii) Acid Rain
(viii) Poaching of wild animals
SHE—1
(UNIT—1)

el e R e oy |
Write an essay on Water Resources.
S
(Or)
g PN & o1 g9 & ? fORIR | FHeSU |

What are the effects of modern agriculture ? Describe
elaborately.

THIE—2
(UNIT—2)

STetr aiRfRerfae &3 W fawr forfRau |
Write any essay on aquatic ecosystem.

AT

(Or)
Sig-fafderdr W ySRI Sleld gY R ¥ S99 Aga &l
NTAEATRY |
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Describe the importance of Biodiversity highlighting it.
THE—3
(UNIT—3)

31T QMR Yawe W oG forefiy |
Write an essay on solid waste management.

SR

(Or)
‘Fedl AT SEE, TR e § SR S~ 3R

B 217 39 199 BT GEIOT BT |

“Increasing Human population is creating bordle in

sustainable development.” Verify this statement.
ShIg—4
(UNIT—4)
G ARHR & Fef T4 YHR BT favgd ®U F T8 |

Describe elaborately the meaning and kinds of Human
Rights.

34T
(Or)
frferRed TR wfera fewforl forkay -
(i) Wil & Ui wewrd FRIERY 8 Sur
(i) 9161 PR FHT
Write short notes on the following :

(i) Measures for elimination of discrimination against
women

P.T.O.
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(i) Convention on child Rights.
ShIE—5
(UNIT—5)
6. WRA™ AfE™ & Ifdid ¥ W Aifd Jf¥eR R o
ferfag |
Write an essay on fundamental rights under the
constitution of India.
SR
(Or)
A JNTHR [Hd YR 9Rd H o] f6d W ? deu o
NTHEATRY |

How Human Rights enforcement was done in India.
Explain briefly.

ED-2011



